cinco fracciones, orden de operaciones con

paréntesis

Nombre: Fecha: Puntuacion:
3 2, 21 1, 2, 1 , 1
—— )Y = —(=+(=))= 4+ =) + = —— =
(4 3) 5(6 (3)) ( 5) 5><5 5

1, 3 1 ) 1 32

— + — _+2: - _ _
(=3P +3x3 G-+ 3G- G-

1 12 21 1, 1 1 1 1,
—+ = = V4 )X =+ (=— =) =
G+l +2GHM- (7737 5+G—3)
1 1, 1 1 1, 1, 1 1 )
—+ (= —+(=—=) = 24+ =)y —=——= -3 =
3+EI*5+G 3 @37 7373

3 1, 11 2 1, 1 , 3
—F+ )+ —(=— =)= 4— )Y +—-—4"x - =
3737 %5373 @=3) T3 7473
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cinco fracciones, orden de operaciones con

paréntesis
Nombre: Fecha: Puntuacion:
3 2 ) 21 1 ) 5 2 2 1 5 1 1193 43
Y-+ (=)= (—— 4+ Y + - x52 - =_ "~ =923~
(4 3) 5(6 (3)) ( 48) ( 5) 5 2 50 50
1 3 1 209 9 1 3 3 107
3— P+ x—+22="1=10— - IV (= -
( 2) 5 ) 3 20 20 (3 5) 4( 3 ) )= 450
1 1 2 21 347 47 1 2 1 1 1 1 > 89
—+ = )Yt )X =+ (= — =) = —
(2 3) ( (3 )) 300 300 ((4) 2) 2 (3 2) 288
1 1 > 1 1 1 > 1 1 2 1 1 ) 749 149
—+ (= X —4+(=— =) = - 24 Y —=-—=-—-3=(—)=(—4—
(3 (3)) 5 (2 6) 5 ( 5) 2 3 ( 150) ( 150)
3 12 11 2 71 17 2 5 3 317 29
-+ = —(=—=)= —=3— 4— )y +-—4 - =(—— 88—
(2 2) 6(3 3) 1 18 ( 6) - 2 - 36) . 36)
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